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Q. 1-25. What value will come in place of the ques-

tion mark (7) in each of the following questions?

Rl e S

9x15-9

16 3 4
(1)? {2}5 ()] 5
@3 (5) None of these
2. 51.12+4.26="
(1) 22 @ 12 (3)2.2
(4) 12 i 5 (5) None of these
3. — of —of —of 5760 =7

4 5 3
(1) 9.6 (2) 95.5 (3) 96
(4)96.5 (3) None of these
&, 16% of 650 + 7% of 850 =172
(1) 20 2) 8 (3) 18
49 (5) None of these
5, 82.70-2587=7279-7
(1) 15.17 2) 16.02 (3) 15.87
4) 15.98 (5) None of these
& 7% of 450 = 54

(1) 12 (2) 24.3 (318
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4) 2.3 (5) None of these

14, 245576 + 2116.8 + 6944 =7
(1) 2431.816  (2) 2430.624 (3) 2431.028
(4) 2421.096  (5) None of these

250
15. 1188x —=7
"8
(1} 16.50 (2) 155 (3)192.7
4) 165 (5) None of these
16. (B7324 - 79576} = 1.5 =7
(1) 1162.2 (2) 11622 (3)1372.2
4) 1163.7 (5) None of these
17. 7776+ 18x3=7
(1) 144 (2) 1926 (3) 1296
(4) 1266 (5) None of these
18. g of 25% of 740 = ?
(1) 121 2)91 (3) 555
4) 111 (5) None of these
19. 7 of (18% of 250 + 25% of 144) = 54
m2 @3 @2
3 2 9
@5 (5) None of these
an J7-63=9
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o 3] None o1 tnese e
. (15 -12)x4=7 ) 12 (2) 144 (3)324

19 @ 6 (3181 ) 128 (5) None of these

) 18 (5) None of these 21. 916.28 - 72.4 = 7282 +7

’1'} {?Ib?;‘ 8% “;’:ﬂ;% - (1) 11586 (212568  (3)215.68

K e [ o (4) 21604 (5)None of these

4y 137.28 (5) None of these ;

9. 45762 - 39826 = 7976 - 7 29 18+17x3-1_,

i1y 2030 (2) 2000 (3)2400 8-15+3-1

4) 2210 (3) None of these 17 12) 26 (3)13
10. 1024 + 7 = 1600 4) 34 (5) None of these

(1) G4 (2) 24 (38 23, (331 + 19 x (15-11)x(37+13) =7

[} 595 (3XHone af these (1) 70000 (24131 (3)30250
. 430 +90% 12=7 (4) 20350 (5) None of these

(1) 538 (2) 1510 (3) 5380 1 2 6 5

Lol -2 =7

(4) G240 (3) None of these o 2 g 3 {? 6

12. 2025 « 25 =7 1715 @133 @ %

(1) 81 2) 9 (345 19

4) 3 (3) None of these ) 180 (5) None of these

13 135+9+3=7x25 c

_ ” 5_ 25. £x§+gx3]=?
(1) 1.5 2) 0.25 312 2 4 2 8
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